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DWARKA INTERNATIONAL SCHOOL
CLASS I
(SESSION 2023-24)
ENGLISH REVISION WORKSHEETS

ADJECTIVES REVISION WORKSHEET

Q1. Identify the Adjectives and circle them:
. She wants to buy a pretty toy.
. Email me if you are interested in reading an exciting story.
. | can see lots of happy students in your class.

. The tall lad waved his arm.

1

2

3

4

5. Itis a short story.
6. Itis a heavy school bag.

7. Itis a lengthy process.

8. It is my humble request for your answer.
9. He is a great businessman.

10. Mother Teresa was a noble lady.

Q2. Fill in the blanks with correct form of adjectives:

1. | want my tea (sweet) than this.

2. His brother plays (good) than him.

3. I got the (difficult) task in the practical exam.

4. She found (little) clues than what | got to solve this puzzle.
5. You must dress up in (clean) clothes.

6. Have you heard the (bad) news?
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7. | have an

(old) sister.

9. Heis

8. | found this book

10. Let us go to the

book | have in my library.

(interesting) than every other

(clever) than any boy of his age.

(near) coffee shop to save time.

Comparative Adjectives

Q3. Complete the chart of the Adjectives:
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x Adjective Comparative Superlative
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it faster
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it clean

*

*

i

* happy
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x calm

*

X

i prettier
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* o
i bitterest
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DWARKA INTERNATIONAL SCHOOL
CLASS Il
SUBJECT- EVS (2023-24)
Revision worksheet

Q1. Fill in the blanks.

a. Alphonso mangoes are grown in

b. is a process in which the egg shell breaks open and a baby bird
comes out.

C. lives in ice and makes its home using pebbles and stones.

d. Ladakh is known for growing

Q2. Unjumble

e. IHFGTL

f. UPSLSE

g. ATOLSN

h.RG ANI

Q3. Choose the correct option:-

a. Bird that love to suck nectar from flowers. (Humming bird/Sparrow)
b. Bird that have talons. (Parrot/Hawk).

c. The largest bird in the world. (Humming/Ostrich)

d. Saffron is largely produce in.(Kerala/ Jammu and Kashmir)
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¥ Q4. Name them

%

¥ a. Two seasonal fruit- ,
%

i b. Birds with webbed feet- ,

d. Perching bird- ,

Q5. Odd one out.

a. Banana Apple Clove

b. Hawk Vulture Woodpecker
c. Duck Swan Crow

d. Rice Wheat Mango

Q6. Answer the following questions.
Differentiate between upstroke and downstroke.

What are flight feathers?
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¥ Why the tailor bird is named so? How does it make its nest?

%

¥ Why we add spices in our food?

*

¥ Write about two different types of claws with examples?

Why do we eat food? Give reasons.
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DWARKA INTERNATIONAL SCHOOL
Mathematics Worksheet
Class -1l

NOTE : Do given worksheet in practice notebook.

1) When we divide 0 by any number, it gives the quotient as

Q
0 b) number itself c)1l d) none of these
Q

2) When we divide a number by 10, the remainder is

the digit of the tens place

the digit of the ones place

the digit of the hundreds place
none of these

Q3) If quotient = 12, divisor = 15, remainder = 4, then dividend is

180 b) 194 c) 190 d) 170
Q4) What operation to be done in the following questions?
In a packet, there are 45 pencils. How many pencils are there in 19 such packets?

addition b) subtraction c) multiplication d) division

Q5) Solve each of the following through the long division method.

i) 24+6
ii) 56+ 8
iii) 63 + 9

Q6) Find the quotient and remainder for each of the following.

i) 65+7
i) 45+ 4
iii)53 + 3
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Q7) Divide each of the following and verify the answer.

i) 258 +7

ii) 1347 =5

iii) 2941 + 8
Q8) A pair of socks cost X 50. Ankita has only one hundred rupee note with her.
How many pairs can she buy?

X X X X X X X X X X0 X0 X0 20 X0 20 20 X0 X X X X X

Q9) Vicky is packing chocolates to distribute amongst friends on Diwali. He makes ¥
packs of 5 chocolates each. If after one hour of hard work, he has packed up 45 %
chocolates, find out the total number of packs he has made.

Q10) Fill in the blanks :

a) 721+1 =

b) 638 + =1
c) +659=0
d) 0+ 1043 =

e) +1234=1

f) 1078 + 1078 =

Q11) 240 desks were arranged in rows with 6 desks in each row. How many rows
can be made?

@)

12) A jar can contain a maximum of 6 balls. How many jars will be needed to keep
215 balls? How many balls will be left over?
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@)

13) Madhur buys 5 CFL bulbs for his shop. What is the cost of each CFL bulb if
adhur paid X350 in all?

<

Q14) Assertion(A):2875+10,Q =287 and R=5.

Reason ( R ) : When we divide a number by 10, the quotient is obtaines by
removing the digit at the ones place from the number, the digit at the ones place
is the remainder.

a) Both A and R are correct and Reason is the correct explanation for Assertion.
b) Both A and R are correct but Reason is not the correct explanation for Assertion.
c) Ais correct but R is incorrect

b) Ais incorrect but R is correct

@)

15) Assertion(A):29+29=0

X

eason ( R): Any number divided by itself gives the quotient as 1.

a) Both A and R are correct and Reason is the correct explanation for Assertion.
b) Both A and R are correct but Reason is not the correct explanation for Assertion.
c) Ais correct but R is incorrect

b) Ais incorrect but R is correct
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